SA: DED
¥ nSdY W (NSLESF/UHSS - =F[SIIE
Rl HESuWSAHIA Stat EER=E)
S - FE - BRI(EH) - AIRAY - BES of v G o HIDE2
wsut 44,632,693 79,426,785 A34,794,002
= 8,002,120
[ 8,196,000
Jl 5,794,000
== 22,640,573
WEHF M (NEASF/USNE - EFSIIEY 36,532,463 38,371,553 ~1,839,000
= 8,002,120
s 8,196,000
J| 5,794,000
== 14,540,343
HSusSAblA efat 25,904,029 24,160,793 1,743,236
= 7,928,500
= 6,663,000
) 5,794,000
= 5,518,529
Hsus AMElA e 225,590 1,474,213 1,248,623
202 04| 20,800 20,800 0
01 2L AH| 20,800 20,800 0
olsusS 2 ¥ NEEHIAMY SXl=tel 5,220
002 & = NSK 2+ A 15,580
207 ARl 75,000 75,000
01 H1E4H| 75,000 75,000
OsusSEIN 2 2 MBIAEIE 9 50,000
OfAl 2URE &8 H5EY 25,000
403 AXIEHMSA=201H 129,790 1,219,213 1,089,423
01 MHXIHH 22X 129,790 1,219,213 A 1,089,423
OO BASEDIE S 74,350
OEEEAl 245} 55,440
MaA SAEX(2D) 4,979,000 3,169,400 1,809,600
= 3,830,000
< 1,149,000
403 MR HHMSAHE01H 4,979,000 3,169,400 1,809,600
= 3,830,000
= 1,149,000
01 AXISHA=2 22X 4,979,000 3,169,400 1,809,600
OM&HA ZYEX 4,979,000
= 3,830,000
= 1,149,000
Sgussg SYEX(21) 1,375,400 1,622,400 A247,000
= 1,058,000
== 317,400
403 AXIEHHSAH=0l 1,375,400 1,622,400 A247,000
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S DED
¥ nSdY W (NSLESF/UHSS - =F[SIIE
Rl HESuWSAHIA Stat EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 1,058,000
=S 317,400
01 AXISHHA =22 & 1,375,400 1,622,400 A\247,000
S8USsH T 22X 1,375,400
= 1,058,000
< 317,400
CAIE NS (338 YAN(=RD) 938,842 917,764 21,078
[ 361,000
= 587,842
308 AtXIEHMSOIE 938,842 917,764 21,078
[ 351,000
= 587,842
01 RSN EES 938,842 917,764 21,078
Os0EXA 5 LEAI(Al) 938,842
s 351,000
s 587,842
SEE NsS2e(338 9A)(=2D) 1,565,718 1,515,904 39,814
= 551,000
S 1,004,718
308 AFAIEMSOIE 1,555,718 1,515,904 39,814
[ 551,000
= 1,004,718
01 AXEHBSEES 1,565,718 1,515,904 39,814
Os0HEXS 3|LEHA(Z) 1,555,718
= 551,000
= 1,004,718
SAl 2T AAIE (2 D) 565,500 327,600 237,900
= 565,500
308 XXM SOIH 565,500 327,600 237,900
= 565,500
01 HRHHBSEEXS 565,500 327,600 237,900
O=AIZA X 565,500
= 565,500
BANRE JtEr=8 K& 373,312 379,412 26,100
308 AXIMSOIA 373,312 379,412 26,100
01 XN B2 LS 373,312 379,412 26,100
OHAIRS I8 X& 373,312
LHUSENXE EEUSE 2 RR(D] 5,794,000 5,974,000 180,000
Il 5,794,000
307 elztol & 1,175,000 1,016,000 159,000
Jl 1,175,000
05 2ItRIE = 1,175,000 1,016,000 159,000
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S DED
¥ nSdY W (NSLESF/UHSS - =F[SIIE
Rl HESuWSAHIA Stat EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OZS0ISANHHE AS=2SHI 1,175,000
Jl 1,175,000
308 XXM SOIA 4,619,000 4,958,000 A339,000
Jl 4,619,000
01 HAHHBSEXS 4,619,000 4,958,000 A339,000
OA=Z SEusS+t 29 XN 4,619,000
Il 4,619,000
JESEUXE SEuss+H 2ENY(ZER) 2,261,000 1,059,000 1,202,000
= 2,261,000
308 XXM SOIA 2,261,000 1,069,000 1,202,000
= 2,261,000
01 HASHHBSEXS 2,261,000 1,069,000 1,202,000
OSgusS=+Y 28 X& 2,261,000
= 2,261,000
CAIE NS (338 HA)(21) 2,730,000 2,730,000 0
[ 2,100,000
= 630,000
308 AtAIEHMSOIE 2,730,000 2,730,000 0
[ 2,100,000
= 630,000
01 XN EES 2,730,000 2,730,000 0
OTAE NERL(S2E HA) 2,730,000
s 2,100,000
=S 630,000
SEE NsS2(338 H2)(2D) 4,290,000 4,290,000 0
= 3,300,000
< 990,000
308 AXIHSOIA 4,290,000 4,290,000 0
[ 3,300,000
= 990,000
01 HAHHBHEXRS 4,290,000 4,290,000 0
O=Z8 ns2g (338 H2) 4,290,000
[ 3,300,000
= 990,000
HASSEX X XH(21) 601,667 0 601,667
= 361,000
< 240,667
403 AXIEHMSAH=0ld 601,667 0 601,667
= 361,000
S 240,667
01 AXISHHA= 2L 601,667 0 601,667
OHASEX X K& 601,667
s 361,000
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ns
¥ nSdY W (NSLESF/UHSS - =F[SIIE
Rl HESuWSAHIA Stat EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
| & 240,667
LEVUEINE N (ZD) 82,400 46,100 36,300
= 82,400
308 AXIHHISO0IA 82,400 46,100 36,300
= 82,400
01 AXEN B2 LS 82,400 46,100 36,300
OgsusiHe XN 82,400
= 82,400
UHswnsEHl &3 X ARG (K-THA) (=1) 131,600 0 131,600
= 131,600
308 AXItHSOIA 131,600 0 131,600
= 131,600
01 AXEN B2 LS 131,600 0 131,600
otizsnsHl &2 X K-HA) 131,600
= 131,600
tsuwsE MEXS 10,260,580 13,750,260 A3,489,680
= 1,533,000
= 8,727,580
AMAHAZSAIY THEXIE 3,957,600 5,568,200 1,610,600
307 lztol & 3,957,600 5,568,200 A1,610,600
0 2+-EAELS 3,957,600 5,568,200 21,610,600
OANAHLAZSAE HEXEA 3,000,000
OAAHA 2HSAL 2202 HE XA 957,600
AU - SHEBHASSAIE HEXIE 3,559,980 5,569,060 A2,009,080
308 AXIHMSOIA 3,559,980 5,569,060 /2,009,080
01 X SHHBAEXS 3,559,980 5,569,060 /2,009,080
OAILY - SHEHA2SEAIE ME X 3,000,000
OAIL - SHEHA S+SAL 2201 N
SR 569,980
HXsd 2B (ZD) 2,555,000 2,433,000 122,000
= 1,533,000
< 1,022,000
308 AXIHSOIA 2,565,000 2,433,000 122,000
s 1,533,000
= 1,022,000
01 XN B EERS 2,555,000 2,433,000 122,000
O8Ild =42y 2,555,000
s 1,533,000
= 1,022,000
X SSHA X 18,000 60,000 242,000
308 XXM SOIA 18,000 60,000 242,000
01 XN BSELES 18,000 60,000 242,000
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FA WS
A WSoHNEH WE(NSESFR/E2)
el WSoHNAlE 5 (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OHE0IES7E HEA(Z)(HEAIY) 1,640,000 1,526,000 114,000
401 Al HIZL 201 1,640,000 1,526,000 114,000
01 Al&HI 1,640,000 1,526,000 114,000
OB 0I5 WM (&S 1,640,000
ORl0I2S 7 JHEA (AlZ2) (HEALY) 2,870,000 3,628,000 A758,000
403 MR EHMSAHE01H 2,870,000 3,628,000 758,000
01 A= 2L 2,870,000 3,628,000 AT758,000
OO0gl0I252% IHH(HE) 2,870,000
FAEHE HEALS (M EALY) 1,446,900 10,582,000 9,135,100
403 AXIEHHSAH=201H 1,446,900 10,582,000 A9,135,100
01 AIXISHHA2EE 1,446,900 10,582,000 29,135,100
O=Xtatd e (& Eh) 1,446,900
LOIESRH JHEAS () (HEALS) 1,290,000 1,062,000 228,000
401 Al HIZL 201 1,290,000 1,062,000 228,000
01 Al&H| 1,290,000 1,062,000 228,000
OLQES7A HE(HE) 1,290,000
COIES A JHAAIG (A2 (HEAL) 465,000 765,000 /300,000
403 MR EHMSAHE01H 465,000 765,000 300,000
01 MHXIHHA 22X 465,000 765,000 A300,000
LOIES TN I (HE) 465,000
=XEE HEAS (HHES HE=TE =4) 18,000 18,000
403 AXIEHHSAH=201H 18,000 18,000
01 AXIEHM A= 2 £ 18,000 18,000
OH&S HeF=XE x4 18,000
FXEE HEAIE (D012l SEFHE Fl) 50,000 0 50,000
403 AXIEHMSAH=0lH 50,000 50,000
01 AXISHHA 22 £ 50,000 50,000
SHel SEFXE JH 50,000
YA HH(wS) (I1EHIIE}) 37,330 33,432 3,898
J1I=23sl 37,330 33,432 3,898
FA2Z Jl=3Hl 37,330 33,432 3,898
201 =3 26,130 23,676 2,454
01 At2teltl 26,130 23,676 2,454
SEN2F A2l 26,130
202 04l 7,600 6.1% 1,444
01 =LHA LI 7,600 6,156 1,444
SEA2E U 7,600
203 =2l 3,600 3,600
04 PAE2EERFAH 3,600 3,600
©202! Olat 3,600
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